Selected/Answers

Chapter 6

6.1 Skill Practice 1.solution 3. solution

5. not a solution 9. (4, 2)

11. The solution (3, —1) _ HE
does not satisly Equation 2. '
The graph of Equation 2 is
incorrect; if properly graphed,
the lines would intersect at
(—3, —3).

13.(4,0) 15.(—3, —5) 17.(10, —15) 19. (7, —5)
21.(-5,2) 23.(3,6) 25.(4,6) 27. Sample answer:
m=0andb=2 29.a.4 b.(4,5) c. Sampleanswer:
Lach side of the equation is set equal to y. d. Sample
answer: Set each side of the equation equal to y to
create a system of two equations. Then solve the
system using the graph-and-check method.

The x-coordinate of the system's solution is the
solution of the original equation.

6.1 Problem Solving 31. 2040 33. 15 small
cards and 10 large cards 35.a.y = 5x + 15, y = 8x

b. Coszt for

Costfor
Tickets members nonmembers

1 520 58

2 $25 £16
3 830 324
4 835 §32
5 $40 §40
B 545 S48

When you view 6 or more
movies, Sample answer:
- The graph for a non-

] member is below the graph
- for a member up through
{4 movies. For 5 movies, the
- costis the same. The graph
for members is lower than
the graph lor nonmembers

for 6 or more movies,

6.1 Graphing Calculator Activity
1. (—1.5,2.9) 3.(0.2, —1.44)

6.2 Skill Practice 1. Sample answer:
y=x+1Ly=2x+13(59 5.(2,-1) 7.(—4,5)
9.06,7) 11.(2, —2) 13.(5, —8) 15.(0,2) 17.(14, —4.4)
19. Sample answer: In Step 3, 6 is substituted for
yinstead of x; y = 9 — 3(6), y 9, the solution is
(6, —9). 21.(4, —120) 23 (3,7) 25. (6, —3) 27.(0, —G)

29. Sample answer: The graphs ol the equations
should intersect at the solution you found using the
substitution method.

6.2 Problem Solving 31. 96 bags of popcorn; 48
pretzels 33. 4 in. Sample answer: (4, 5) is the
solution to the appropriate linear system, so x
should equal 4. 35. 50 milliliters of 1% hydrochloric
acid solution and 50 milliliters of 5% hydrochloric
acid solution 37, Yes, Sample answer: The cheetah
would have to run at 88 leet per second for

23.3 seconds to catch the gazelle.

6.2 Problem Solving Workshop 1.5 mi

6.3 Skill Practice 1. Sample answer: x + y = 10,
x—y=53(,6) 5(-1,-5) 7.5 7 8.{(-1,2)
11.(5,3) 13.(4,5) 17.(2, —-3) 19.(—18,4)

21. (4, —3) 23. Sample answer: The two equations

should be subtracted rather than added; 6x = &, x

25, (26, 14) 27.(—4,12) 29.(-2,5) 31. (5, 25)
33.(-2,8) 35.8 =45, w= 25N

4
3

6.3 Problem Solving 39. speed in still

waler: 4.6 m/sec, speed of current: 0.3 m/sec

41. monophonic ring tone: $1.95, polyphonic ring
tone: $3.50 43. a. flight to Phoenix: 400 mi/h, fight

to Charlotte: A50 mi/h b.s + w = 450, 5§ — w = 400;
plane: 425 mi/h, wind: 25 mi/h
6.4 Skill Practice 1.36 3.(1,1) 5.(5, -4) 7.(2, 1)

9. (-7, -12) 11.(5,6) 13.(4,4) 15.(5, —3)
17. |'41 ?, 5] 19. Sample answer: The two equations
should be subtracted rather than added; —x q,

; [ s A
r=9 2102, 1) 23, -'122. ..-1]1] 25. (5, 1)

27.(10,2) 29.(2, 1) 31.|:_'!, ,‘f| 33.a. 20 + 2w = 18,

GE + 4w = 46; length: 5 in., width: 4 in. b. length: 15
in., width: 8in.

6.4 Problem Solving 37. 5 hardcover books

39. 21 pies, 16 batches ol applesauce 41. $16.50;

a small costs $2.90, and a large costs $3.90; 3(2.90) +
2(3.90) = 16.50. 43. $800; $1200

Graphing Calculator Activity 1. (-2, 3) 3. (6, -3)

5. (4, 1) 7. The solution (2, 4) found using the
graphing calculator has coordinates that are

given by the equations resulting from using linear
combinations to eliminate one of the variables from
the original system. 9.a.You get a false equation
such as 5 = 3. b. The lines are parallel. ¢. When you
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add the equations, you don't get an equation that
can be graphed, so the method does not work.

6.5 Skill Practice 1. inconsistent 3. Sample
answer: The lines have the same slope but
dillerent y-intercepts. 5. B; one solution

7. A; infinitely many solutions
8 I 11 1. T TTHT]

-
L.
[ -
K"
[F+]

=

EIJ

HEFdERER P
'HQ;’%fFH z| [ ] AL L]
infinitely many solutions  one solution

13. 7

T /
-1 I
By N

15.(-3,4) 17.(3,7) 19.(2, 2) 21. no solution
23. (0, 3) 27. infinitely many solutions 29, infinitely
many solutions 31. infinitely many solutions
33. Sample answer: 7x — By 9,7 -8y=41

o

L4 no solution

Pa

6.5 Problem Solving 37. Yes. Sample answer: There is
one solution o the resulting linear system.

[ i
39.a.d - 3.4'1’ "3 o
b.| | | - Sample answer: No, since
the lines are parallel, the
| two climbers will never be
_~~ at the same distance at the

B osame time.

Extension 1. | | [y |

L

l B
: | 1, ifx < —1
3. 4 || Buy 2x, ifx-150
1 | —1 %r F2,ifx>2
: ]

7.p 20f,ifO<t=40
30(r—40) + 800, if t > 40

|r.F
1200 : ;f
E T4
3
E 8O0 = il / | —
h .
e

0 20 40 60 F
Time (hours)

Yes; yes; the function
is a piecewise [unction
because, for every
integer value of n, there
is a unigue equation
that applies to the part
of the domain defined
byn=x<n+l.

The function is a step
unction because it is
defined by a constant
value over each part of
its domain.

6.6 Skill Practice 1. solution 3. nol a solulion
5. not a solution 7.A
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17. [N ' TA 19 2l | 39.a.20 £x <65, 154 — 0.7x £y < 187 — 0.85x
3 r ' 2 ,’ | T ¥ ] - b. No. Sample answer:
Py . : - | The heart rate is below

KW I I 70% of the maximum
L& | I | heart rate.
Filk | I
F 2 | |'x I | ! [t ) I | S |
4 £ L 4 i. 4§ {5 ' 1 | | [ E | b | [ | | |
EEfamEE

23. The graphisshaded [T 7T N7 7§ L L

toinclude x + y > 3, not = '}., HEEE .- - |
¥ 5, L } | N N N I !

X+y<3. EEE SHEE

1T ] || S I I O A
3 = : Id
2 (Rl s
L L (150
I L]
+ :.. ———t
HEE N -

25.y>—1,y<4 27.ys5x+ 1,y>x— 2 29.ysx — 3, )

10 Al 10x

¥>—-2x—1,y> -6

LTI P Pl T Chapter Review 1. system of linear inequalities
HEEE” "EEN 3. Sample answer: Graph each inequality then shade
SHE i 1] the region that is the intersection of the solutions to

P . ,"'-x/ each inequality. Then check the solution with a test
AR A point. 5.(2, -5 7.(4, -1) 9.(5,1)
HER -»./ _ 11. 4 tubes of paint, 8 brushes 13. (1, —2) 15. (6, 10)
EnESEE 17. ( .?' 8) 19.(-2,5) 21.(4,5) 23.{14:} 25. No
sy =% solution. Sample answer: When the variables are

33‘.N“" therearg S possible values for x and y that eliminated, a false statement remains, which means

satisfy both equations. there is no solution. 27, One solution. Sample

answer: The lines have different slopes, so there is

6.6 Problem Solvin
° only one solution.

37, 1dx + Ty <70, W

X+ y<8 x20,y20 \‘{jjjjj'j 29. T 'ji.ﬁﬁj
a
o - :
:.'h\“ [
B v, | | | |
-._: i }1 \f.\'l‘. .:if } | -
d  'EEOF I [ |
I Ll
LI 1A L 3. let m represent "

the number of matinee .
movies and # represent the
number ol evening movies; T
sm+8n<40,m=z0,nz0. Py I I
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Chapter 6
Extra Practice

L.(3,2) 3.(1,-3) 5.(-3,-2) 7.(-3,0)
9.(9,7) 11.(3, -7) 13.(—4,3) 15.(-9, -2)

17.(-3, -5) 18.(-6,3) 21.(11,9) 23.(10, -3

25. (INTINC 27N y
\ U
.\1 b Jx + Gy = —18
| Y | R¥=—-2x+5 ; |
\\ -
| 1=28 1N =
L e i k]
| ‘\‘ \ hr=-2x-3
E A 1% [ ]|
no solution infinitely many solutions
29, (20,48) 31.no solution 33, (—30,0)
35! ¥ 3?1 *
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